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Nurturing potential through education

NATIONAL TALENT SEARCH
EXAMINATION(NTSE) 2016 STAGE-I

SCHOLASTIC APTITUDE TEST (SAT) 100-C
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SOLUTION
(4)
Vav _ Tntaldictanra
9 Tntaltima
an an
Vv, = . Vv, = v
AN AN
T, ="~ T,=
N AN
N
V. = = 53 km/hr
avg 1 + T’)
(2)
(3)
From work energy theorem
W, =AKE
1 1
= —mv?> -=mv/}
2 2
1 2 2
= = x5(10% - 6%)
2
1
—x5x64
=2 = 160]
(4)
3 P
(3) P=
. As area decreases pressure increases
(2)
(2)
R = oL
A
So R o L
R 1
“A
= Thick, short, cool
(1)
4 200 20Q 200 20Q
| |
| !
20V
Req=20><4=80§2
V=20V
V 20 1
l= — = ——— = —
R 80 4

Potential drop at each resistor = iR

1
4
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11.

12,
13.
14.

15.
16.
17.
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19.
20.
21.
22,
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.

37.

38.

39.

(1)

(3)

(1)

Image 1 — at .2d from mirror 1

Image 2 — at (.2d + .8d + .8d) = 1.8d

i.e. image of image formed in mirror 2

(4)

(3)

(1)

102 gm of Al,O, contains = 2 gram moles of
Aluminium ion

2x.051

102
= .001

.051 gm of ALO, contains =

(2)
(3)
(3)
(3)
(1)
(1)
(4)
(4)
(3)
(4)
(1)
(4)
(1)
(1)
(2)
(4)
(1)
(3)
(3)
(1)
(1)
(2)

22[12 + 22 + ..... 127]
= 22[650] = 2600
N.A.

b2 p2+2ab Xaz—bz = sz+bz*“b+az—bz = szqahwz

X
(1)

(x +2) (2x?> - 4x + 3)
K=b

(3)

3px + p%y =7p

3px +9y =15x%x 3
(9-p)y=45-7p

45-7
y= 9_p2
p=x3
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40. (2 46. (3)
¢ a b’
ab bc «ca
c+a+b’
abc
h
a@+b*+c
abc
410 490 iea+b+c=0
+«—36 cm—>» a®+ b3+ ¢ = 3abc
< > =3
49 cm 47. (2)
tan 900 = tan41° + tan49° = A Y
an 2% = 1 tan41° tan49o t
r
_ tan41° + tan 499 l
*7 1-tan41°tan9° 2r ONFT— |H2r
=tan41°tan 490 =1 l
h h v
—x—=1 P
49736 =—Q
h=42cm =
41. (3) AAOM OM=r
AM = OM =r
/ABC=n-a
Z AOM = 450
/ADC=n-b
ABC ADC 2 < BOM = 459
4 4 =
* Xy =en / AOB = 900
n-a+n-b+x+y=2n 48. (1)
at+tb=x+y
42. (2) cos® _ sin® _ cos’6-sin’ 0
~ POR = 3600 - 80° cot6-1 cot6-1 (cos6-1)sin6
= 2800° (obtuse) =cos 0+ sino
Hence /RQP = 1400 49. (2)
- ROS = 400 Red colours ace = 2
- ZRQS = Total colours = 52
43. (3)
Area o (side)? p= 2 :i
LACA =14 52 26
44. (4) 50. (4)
a-6=5=oa=5+6 tan 20 . tan 40 . cot 40 . cot 20
az-b? =300 =1
= (a+b)(a-6) =300 51. (3)
300 a=11,d=2,
(a+b)=?=60 a+(n-1)d+a(n-2)d =60°
2z1 + d[2n - 3] =60
45. (1) 2x11+2[2n-3] =60
D>0 2(n-3]=38
4-4[a][-2]>0 2(2n-3] =38
4+80>0 2n-3 =19
1+2a>0 on =22
2a>-1 n=11
a>-1/2
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52.

53.

54,

55.

56.
57.
58.
59.
60.
61.
62.

(3)
2nr - 2r = 60

Zr(z—lJ =60
7

30x7
r=
15

=14cm

A = nrz = 2—72X14X14
=22 x 28 = 616 cm?
(14)? = cm?

(2)

bZ

Sidesarea=b=c=l=a
length=b=0>b

breadth = h = ¢

height = h =c

Hence V = Ibh = abc

(3)
D C

A B
AB _3

CA 2

Area AOB _

Area COD

ENEG)

(2)
5+494+x+7+4+y=7x%x6
=25+ x+y=42
X+y=17

(1)

(2)

(2)

(3)

(1)

(2)

(3)
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70.
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75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.

94.
95.
96.
97.
98.
99.
100.

(2)
(1)
(2)
(1)
(2)
(1)
(1)
(2)

As per United Nation Recent Data India has

132 Rank Now.

(3)
(4)
(2)
(2)
(2)
(3)
(3)
(3)
(3)
(4)
(4)
(4)
(1)
(1)
(4)
(2)
(3)
(1)
(4)
(2)
(1)
(2)
(3)

32 gm of O, contains = 6.022 x 10% molecules

8 gm of O, contains =

(4)
(2)
(2)
(4)
(1)
(3)
(2)

6.022 x10** y
32

8

= 1.51 x 10%
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